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(A)65,000 ¢ (B)30,000 & (C)20,000 ¢ (D)13,000 It

(A) 36 John ate and yawned with his mouth wide open. His manners shocked everyone.
(A)vulgar  (B)delicate  (C)civil  (D)decent

(C) 37 Both coffee and naps can mood individually; when combined, they are magical.
(A)devastate  (B)decrease  (C)improve  (D)invest

(D) 38 People are annoyed by advertisements that on the YouTube all the time.
(A)startup  (B)standup  (C)saveup  (D)show up

(D) 391 grew up near the ocean, is probably why | love going to the beach!
(A)when  (B)what (C)where  (D)which

(C) 40 Jeff went to Tainan last night. | with him if he had told me a day before.

(A)shouldgo  (B)wouldgo  (C)would have gone  (D)should be going

% 41 BEEFAS R
With thirty e-devices, four hundred e-titles, and two thousand print items, Taoyuan International Airport became

the world’s first e-book library in an airport. Titlesare 41 in both English and Chinese, and the e-devices vary from
iPads to e-readers with e-ink. The library is 42 by the duty-free shop at the airport. The _ 43  for the project
comes from the Institute for Information Industry, a government agency. The total cost of the project was about
US$102,000. Airport passengers are 44 to borrow the devices and read the e-books in the airport, but they cannot
download any _ 45  for their own devices. With more than seventeen million passengers passing through the airport
each year, this is likely the beginning of something much bigger.

(D) 41 (A)added (B)limited (C)required (D)available

(C) 42 (A)opened  (B)checked (C)managed (D)published

(C) 43 (A)basis  (B)reason  (C)funding  (D)direction

(C) 44 (A)trying  (B)willing  (C)allowed  (D)prepared

(C) 45 (A)medals  (B)mistakes  (C)materials  (D)machines

5% 46 HEF50 LA

In 1945, leaders from 51 countries met in San Francisco, California, where the United Nations (UN) was organized.
At that time, World War Il had just ended. People hoped they could build a future of world peace through this new
organization. Today almost every country in the world is a member of the UN. Each country has signed an agreement
that says:

1. All members are equal.

2. All members promise to solve international problems in a peaceful way.

3. No member will use force against another member.

4. All members will help the UN in its actions.

5. The UN will not try to solve problems within countries except to enforce international peace.

Obviously, the United Nations has not been completely successful in its actions. There have been several wars
since 1945. However, the organization has helped bring peace to some countries that were at war. Besides, it has helped
people who left their countries because of wars. It has also helped bring independence to colonies.

The main UN organization is in New York City, but the UN has a “family” of other related organizations all over
the world. These organizations try to provide a better life for everyone. One example is UNICEF, an organization that
provides poor children with food, medical care, and many other services. Another example is the World Health
Organization, which develops medical programs all over the world. There are thousands of UN workers in developing
countries. They work as planners to increase production in farming and industry. They provide medical services,
improve education programs, and spread scientific information. They develop programs that provide jobs and better
living conditions. They help countries control their population growth. The UN also holds large international
conferences, where people meet to discuss important world issues. One conference was about the uses and ownership of
oceans. Another was about women. There are also International Years for people to work together to improve situations
and solve problems.

(B) 46 According to the passage, which of the following statements is NOT true?
(A)The UN has helped refugees who left their countries because of wars.
(B)The headquarters of the United Nations is now in San Francisco, California.
(C)AIl members of the UN promise to solve international problems in a peaceful way.
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(D)UN workers in developing countries plan how to increase production in farming and industry.
(B) 47 Why has the UN not been completely successful in its actions?
(A)Not all the members of the UN are equal.
(B)Several wars have occurred since 1945.
(C)There have been no solutions about poverty.
(D)The UN has solved problems within particular countries.
(D) 48 Which service is NOT provided by UN?
(A)Improving education programs.  (B)Spreading scientific information.
(C)Holding international conferences. (D)Using force against other countries.
(B) 49 What is the mission of the World Health Organization?
(A)Discussing the uses and ownership of oceans.
(B)Developing medical programs all over the world.
(C)Helping countries control their population growth.
(D)Providing poor children with food wherever they live.
(C) 50 Which of the following word can best describe the status of “colonies” in the sentence “It has also helped
bring independence to colonies”?
(A)Free. (B)Active. (C)Governed. (D)Autonomous.
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